Shavige Malleswara Hills, Kumaraswamy Lay-out, Bangalore-78

LIBRARY AND INFORMATION CENTRE

DSCDS/LIB/E-Resource/INVOICE

RGUHS HELINET CONSORTIUM Membership fee and Students Helinet fee paid Acknowledgements for E-Resources

2022 - 2023

Shavige Malleswara Hills, Kumaraswamy Lay-out, Bangalore-78

LIBRARY AND INFORMATION CENTRE

DSCDS/LIB/E-JNLS/INVOICE

Summary for RGUHS HELINET Fee paid for the Academic Year 2022-23				
Sl.No	Particulars	Amount		
01	RGUHS Helinet Institution Membership fee	1,30,000.00		
02	UG Students Helinet fee	2,29,500.00		
03	PG Students Helinet fee	1,08,000.00		
	Total	4,67,500.00		

AVI MOTY -

PRINCIPAL
Pavananda Sagar College of Dental Sciences
Kumaraswamy Layout,
Bangelore - 560 078.

(Affiliated to Rajiv Gandhi University of Health Sciences, Karnataka, Bangalore) (Recognised by Dental Council of India, New Delhi)

ISO 9001: 2008 Certified Institution Affi-2022/164

February 16, 2022

The Registrar,

Rajiv Gandhi University of Health Sciences

4th 'T' Block, Javanagar.

Bangalore - 560 041

Sir.

Sub: Application for continuation of Affliation for Undergraduate and Postgraduate courses in Health Sciences for the academic year 2022-23.

Ref: Notification No. RGUHS/Aff/COE/2022-23 dated: 29/01/2022.

With reference to the above, I am herewith submitting one copy and one pendrive of the application form for continuation of affiliation for Undergraduate (BDS), Postgraduate Course (MDS) of our college to Rajiv Gandhi University of Health Sciences, Bangalore for the academic vear 2021-2023.

Continuation of affiliation of Undergraduate (BDS), Postgraduate (MDS) Courses fees and Helinet Institutional Member ship fees of Rs. 4,38,000/- (Rupees Four Lakhs Thirty Eight Thousand Only) paid for the academic year 2022-2023 is enclosed herewith.

Sl. No.	Description	Payment Transaction Reference No.	Date	Amount in Rupees
1.	Application Fees - UG	BD00000002571018	11-02-2022	1,000.00
2.	Application Fees - PG	BD00000002571093	11-02-2022	1,000.00
3.	Renewal Affiliation Fees - UG	BD00000002570908	11-02-2022	2,40,000.00
4.	Renewal Affiliation Fees - PG	BD00000002570944	11-02-2022	66,000.00
5.	Helinet Institutional Membership Fees for UG & PG	BD00000002570995	11-02-2022	1,30,000.00
			Total	4.38,000,00

Kindly accept and acknowledge the receipt of the same.

Thanking you

Yours sincerely

Prof. Dr. Hemanth M

M.D.S, Ph.D

PRINCIPAL.

PRINCIPAL

Dayaganda Sagar College of Dontal Sciences Kumaraswaany imponit,

Bangrione - 1

PRINCIPAL Dayananda Sagar College of Dental Sciences Kumaraswamy Layout,

Bangalore - 560 078.

Shavige Malleshwara Hills, Kumaraswamy Layout, Bangalore - 560 078. Phone: +91 80 26663654 / 26913718 / 26661104, Fax: 080-26663654

Website: www.dayanandasagar.edu





Rajiv Gandhi University of Health Sciences

Thank You! Your payment request has been successfully recorded, Please quote your transaction reference number for any queries relating to this request.

_		
Irar	Saction	Details

Transaction Status SUCCESSFUL

Transaction Date and Time: 11-02-2022 12:08:20

Transaction ID: BD00000002570995

Payment Ref No: WBBC0898142107

Paid Amount: Rs. 130,014.16

Payment Summary

Total Rs. 130,000.00

Surcharge Rs. 14.16

Net-total Rs. 130,014.16

Fee Details

HELINET Fee Amount: Rs. 130000.00

Late Fee Amount: Rs. 0.0

Total Amount Amount: Rs. 130000.0

Student Details

PRINCIPAL

Dayananda Sagar College of Dental Sciences,
Bangalore College Name

Kumaraswamy Layout, Bangalore - 560 078. Faculty Dental

Course Name UG



(Affiliated to Rajiv Gandhi University of Health Sciences, Karnataka) (Recognised by Dental Council of India, New Delhi)



December 5, 2022

Ref: DSCDS/2022/ 291

To:
The Registrar
Rajiv Gandhi University of Health Sciences,
4th 'T' Block, Jayanagar,
Bangalore – 560 041

Sir,



Sub: Approval of admission of I MDS made during the academic year 2022-23

Ref: RGUHS, revised notification No: RGU/UG& PG/ADM/COE/2022-23 dtd:25-11-2022

With reference to the above, I am herewith forwarding the KEA online uploaded statement of admission and original documents in respect of the studens admitted to I year MDS course during the academic year 2022-23, along with admission register, KEA verification slips and allotment letters etc.,

All 18 students have been admitted through KEA and the below details university fee has also been collected by KEA. Kindly find the details herewith.

SI. No.	Particulars	No. of Students	Amount
1.	Registration Fee	18 x 3,000.00	54,000.00
2.	Admission Fee	18 x 2,100.00	37,800.00
3.	Sports Fee	18 x 600.00	10,800.00
4.	Student welfare fee	18 x 300.00	5,400.00
5.	Addl. Examination Fee	18 x 3,000.00	54,000.00
6.	Helinet Student Fee	18 x 6,000.00	1,08,000.00
		Total	2,70.000.00

I request you to kindly approve the admissions made during the year 2022-23 at an early date and oblige.

The receipt of the same may kindly acknowledged.

Thanking you

Yours faithfully

PRINCIPAL

Dayananda Sagar College of Dental Sciences

Kumaraswamy Layout,

Bangalore - 560 078.

PRINCIPAL
Dayananda Sagar Concept of Mental Sciences
Kumaraswamy Layow. D.S., Ph.D.

PRINCIPALOTE - 560 078.

Shavige Malleshwara Hills, Kumaraswamy Layout, Bangalore - 560111. Phone: +91 80 26663654, 26662226 Fax: 26660789 Mobile: 74836 93035



(Affiliated to Rajiv Gandhi University of Health Sciences, Karnataka) (Recognised by Dental Council of India, New Delhi)



DSCDS/2023/326

January 19, 2023

To:

The Registrar, Rajiv Gandhi University of Health Sciences 4th 'T' Block, Jayanagar, Bangalore - 560 041

Sir.

Sub: Approval of Admission of I BDS made during the academic year 2022-23.

With reference to the above, I am herewith forwarding the KEA online uploaded statement of admission in respect of 51 students admitted to I year BDS course during the academic year 2022-23 along with admission register, KEA Verification slip and allotment letters, original marks cards, transfer certificate etc.,

Of the 51 students, 43 students have been admitted through KEA and 8 students have been admitted by the college. The details of payment as below

		By KEA Details of Amount Transferred by KEA		By College Details of Amount Transferred by College	
SI No	Particulars				
1.	Registration Fee	Registration Fee 39x4,000.00	1,56,000.00	SC/ST - 4 x 4,000.00	16,000.00
2.	Admission Fee		81,900.00	Mgt - 8x 4,000.00 SC/ST - 4 x 2,100.00	32,000.00
_		39x2,100.00	31,300.00	Mgt - 8 x 2,100.00	8,400.00 16,800.00
3.	Sports Fee	39x900.00	35,100.00	SC/ST - 4 x 900.00	3,600.00
4	Charles I Inc. 16			Mgt - 8 x 900.00	7,200.00
4.	Students Welfare Fund	39x450.00	17,550.00	SC/ST - 4 x 450.00	1,800.00
г				Mgt - 8 x 450.00	3,600.00
5.	Helinet Fees	39x4,500.00	1,75,500.00	SC/ST - 4 x4,500.00	18,000.00
				Mgt - 8 x4,500.00	36,000.00
Δno	Total Amount Transferred by KEA		4,66,050.00	Total Amount Transferred by College	1,43,400.00

An online payment of Rs Rs. 1,43,400/-(Rupees One Lakh Forty Three Thousand Four Hundred only) vide transaction No. YBBC1681058702, YBBC1681065900 and YBBC1681071962 dated: 17/01/2023.

I request you to kindly acknowledge the payment and issue a receipt for the same and approve the admission made for the academic year 2022-23 at the earliest.

Thanking you

Yours faithfully

PRINCIPAL

- Dayananda Sagar College of Dental Science

Kumaraswamy Layout, Bangalore - 560 078.

Dr. Hemanth, M.

R.G.U.H.S. INWARD

Signature:...

Shavige Malleshwara Hills, Kumaraswamy Layout, Bangalore – 5600111 Phone: +91 80 26663654, 26662226 Fax: 26660789, Mobile: 7483693035 E-mail: principal@dscds.edu.in Website: www.dscds.edu.in

Shavige Malleswara Hills, Kumaraswamy Lay-out, Bangalore-78

LIBRARY AND INFORMATION CENTRE

DSCDS/LIB/E-Resource/INVOICE

RGUHS HELINET CONSORTIUM Membership fee and Students Helinet fee paid Acknowledgements for E-Resources

2023 - 2024

Shavige Malleswara Hills, Kumaraswamy Lay-out, Bangalore-78

LIBRARY AND INFORMATION CENTRE

DSCDS/LIB/E-JNLS/

Summary for RGUHS HELINET-E-Resources Subscriptions Fee paid for the Academic Year 2023-24				
Sl.No	Particulars	Amount		
01	RGUHS Helinet Institution Membership fee	1,30,000.00		
02	UG Students Helinet fee	2,70,000.00		
03	PG Students Helinet fee	1,02,000.00		
	Total	5,02,000.00		

AUN MARTY
LIBRARIAN 21/02/24

PRINCIPAL
Dayananda Sagar College of Dental Sciences
Kumaraswamy Layout,

th

Bangalore - 560 078.



(Affiliated to Rajiv Gandhi University of Health Sciences, Karnataka) (Recognised by Dental Council of India, New Delhi)



Ref.No: DSCDS/Affi-2022/ 344

To: The Registrar Rajiv Gandhi University of Health Sciences 4th 'T' Block, Jayanagar Bangalore - 560 041.

Sir,

September 30, 2022

G.U.H.S. NWARD 3 0 SEP 2022

Sub: Application for continuation of Affiliation for Undergraduate (BDS) and Postgraduate (MDS) courses in Health Sciences for the academic year 2023 - 2024.

Ref.No: RGUHS/AFF/COE/2023-24 dated 22-09-2022.

With reference to the above, I am herewith submitting one copy and one pen drive of the application form for Continuation of affiliation for Undergraduate (BDS) and Postgraduate (MDS) of our college to Rajiv Gandhi University of Health Sciences, Bangalore for the academic year 2023 - 2024.

Continuation of Affiliation of Undergraduate (BDS), Postgraduate (MDS) courses and Helinet Institutional Membership fees of Rs.4,38,000/- (Rupees Four Lakhs Thirty Eight Thousand only) paid for the academic year 2023 - 2024 is enclosed herewith.

S1.	Description	Payment Transaction	Date	Amount in
No.	Description	Reference No.		Rupees
1	Application Fees for UG	YBBC1443835135	30-09-2022	1,000.00
2	Application Fees for PG	YBBC1443835135	30-09-2022	1,000.00
3	Continuation of Affiliation Fees for UG	YBBC1443789252	30-09-2022	2,40,000.00
4	Continuation of Affiliation for PG	YBBC1443806596	30-09-2022	66,000.00
5	Helinet -(Institutional Membership)	YBBC1443820076		
5	Fees for UG & PG		30-09-2022	1,30,000.00
	rees for o dar d	3	Total	4,38,000.00

Kindly accept and acknowledge the receipt of the same.

Thanking you

INCIPAL Dayananda Sagar College of Dental Sciences Kumaraswamy Layout, Bangalore - 560 078.

Yours faithfully

Prof. Dr. Hemanth M

M.D.S, Ph.D

PRINCIPAL

PRINCIPAL

Dayananda Sagar College of Bental Sciences Kumaraswamy Layout, Bangalore - 560 078.



Rajiv Gandhi University of Health Sciences

4th T Block, Jayanagar, Bangalore, Karnataka, 560041

PAYMENT RECEIPT



Amount Paid: Rs. 130,014.16

Ar nount in words: One Lakh Thirty Thousand Fourteen Rupees and Sixteen Paise Only.

Transaction Details

Transaction Status:

Transaction Date-Time:

Transaction ID:

Payment Ref No:

SUCCESSFUL

30-09-2022 15:01:46

BD00000003790989

YBBC1443820076

Studien Desirie

College Name:

Faculty:

Course Name:

Name of the Person Paying the amount :

Designation of the Person Paying the amount :

Select Fee Type :

Mobile No:

E Mail ID :

E MISH ID

Remarks:

Dayananda Sagar College of Dental Sciences, Bangalore Dental

UG and PG

Dr. Hemanth M

Principal

HELINET Fee

9845459666

principal@dscds.edu.in

BDS and MDS Helinet Fee 2023 - 24

Payment Summary

Total:

Net-total:

130,000.00

130,014.16

Surcharge: 14.16

Payment Description

Fee Details

Amount: Rs.130,000.00

Total: Rs. 130,000.00

HELINET Fee (-)

Amount: Rs. 130,000.00

Total: Rs. 130,000.00

Note: This is a computer generated receipt and does not require signature.

Receipt Generated Date & Time : 30/09/2022 03:04:34 PM

1.7

PRINCIPAL

Navananda Sagar College of Dental Sciences Kumaraswamy Layout, Bangalore - 560 078



(Affiliated to Rajiv Gandhi University of Health Sciences, Karnataka) (Recognised by Dental Council of India, New Delhi)



DSCDS/2023/506

To: The Registrar, Rajiv Gandhi University of Health Sciences 4th 'T' Block, Jayanagar, Bangalore - 560 041

Sir,

November 15, 2023

R.G U.H.S INWARD 15 NOV 2023

PRINCIPAL Dayananda Sagar College of Dental Sciences

Kumaraswamy Layout, Bangalore - 560 078.

Signature:....

Sub: Approval of Admission of I BDS made during the academic year 2023-24.

With reference to the above, I am herewith forwarding the KEA online uploaded statement of admission in respect of 60 students admitted to I year BDS course during the academic year 2023-24 along with admission register, KEA Verification slip and allotment letters, original marks cards, transfer certificate etc., All 60 students admitted through KEA and university fees collected by KEA. Out of 60 students, 3 SC / ST Students University fees Paid through college.

The details of payment as below

SI No		By KEA			
	Particulars	Details of Amount Transferred by KEA		3 SC/ ST Students details of Amount Transferred by College	
1.	Registration Fee	57×4,000.00	2,28,000.00	3x4,000.00	12,000.00
2.	Admission Fee	57x2,100.00	1,19,700.00	3×2,100.00	6,300.00
3.	Sports Fee	57x900.00	51,300.00	3x900.00	2,700.00
4.	Students Welfare Fund	57x450.00	25,650.00	3x450.00	1,350.00
5,,	Helinet Fees	57x4,500.00	2,56,500.00	3x4,500.00	13,500.00
	Total Amount Transferred by KEA		6,81,150.00	Total Amount Transferred by College	35,850.00

An online payment of Rs 35,850.00/-(Rupees Thirty Five Thousand Eight Hundred Fifty only) paid by college vide transaction no. ZBBC1504808543, ZBBC1504824371 and ZBBC1504841328 dated: 02/11/2023.

I request you to kindly acknowledge the payment and issue a recipt for the same and approve the admission made for the academic year 2023-24 at the earliest.

Thanking you

Yours faithfully

Prof.Dr. Hemanth. M

Pavananda Sagar College of Dental Sciences

Kumaraswamy Layout, Bangalore - 560 078.

hannappa Section Officer

Shavige Malleshwara Hills, Kumaraswamy Layout, Bangalore - 560111. Phone: +91 80 26663654, 26662226 Fax: 26660789 Mobile: 74836 93035

E-mail:principal@dscds.edu.in Website:www.dscds.edu.in



(Affiliated to Rajiv Gandhi University of Health Sciences, Karnataka) (Recognised by Dental Council of India, New Delhi)



Ref.No:DSCDS/PG-Adm/2023/497

October 27, 2023

To: The Registrar, Rajiv Gandhi University of Health Sciences, 4th 'T' Block, Jayanagar, Bangalore - 560 041.

Sir,

Sub: Submission of First year MDS students Admission Register, online entered printed admission statement with originals of the required documents including eligibility certificate for the academic year 2023-24 Ref: RGUHS letter No. RGU/UG&PG/ADM/COE/2023-24 dt. 07-10-2023

With reference to the above, I am herewith submitted the Admission Register, online entered printed admission statement with originals of the required documents including eligibility certificate of First year MDS students for verification during the academic year 2023-24.

All 17 students have been admitted through KEA and the below detailed University fee has also been collected by KEA. Kindly find the details herewith

Sl. No.	Particular No of students Ar		
		No. of students	Amount
1.	Registration fee	17 X 3000	51,000.00
2.	Admission fee	17 X 2100	35,700.00
3.	Sports fee	17 X 600	10,200.00
4.	Student Welfare fund	17 X 300	5,100.00
5.	Addl. Examination fee	17 X 3000	51,000.00
6.	Helinet fee	17 X 6000	1,02,000.00
		Total	2,55,000.00

I request you to kindly approve the admissions made during 2023 - 24 at an early date and oblige. The receipt of the same may kindly be acknowledged.

Thanking you

Payananda Sagar College of Dental Sciences Kumaraswamy Layout,

Yours faithfully,

PRINCIPAL

Dayananda Sagar College of Dental Sciences

Kumaraswamy Layout, Bangalore - 560 078.

Shavige Malleshwara Hills, Kumaraswamy Layout, Bangalore - 560111. Phone: +91 80 26663654, 26662226 Fax: 26660789 Mobile: 74836 93035

E-mail:principal@dscds.edu.in Website: www.dscds.edu.in

Section Officer

PRINCIPAL